EE 475 Fall 2007 Quiz #13
Name:





1. Suppose system A and system B have unit step responses as below.
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a. System A’s type is 

 system B’s type is 

.

b. Which system has larger Mp: 


.

c. Which system has larger : 


.

d. Which system has larger : 


.

e. Which system has larger d: 


.

f. Which system has larger phase margin: 


.

g. Which system has larger gain crossover frequency: 


.

h. Which system has larger bandwidth: 


.

i. Which system has larger resonance frequency: 


.

j. Which system has larger resonance peak: 


.

k. Which system has larger settling time: 


.

l. Which system’s dominant pole is closer to the origin: 


.

























